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] 27 8,7 10C3+bn 102 | 0,60 IA | 31 |40 400 3 BCP BCUXAHHs 20 ®
— 3 2 8,7 10C3 102 | 0,70 I 20 | 32 450 3 BCP BCUXAHHS | 25 :
> 5 14 3,6 9Cs31 /I3 112 10,50 | 29 | 40 325 3 BPC BCUXaHHA 18 -
5 6 2 11,0 ) 6,2 16,2 10C3k 82 0,70 | 25 |28 385 3 BCP BCHUXaHHs 25 § §
z 18 1 16,0 10C3+]/13+bn 77 0,70 IA | 28 | 32 440 3 BCP BCUXAHHSA 20 §' =
é 18 12 1,4 10C3 82 0,70 1A | 28 | 36 420 3 BCP BCUXAHHA 25 g §. =
18 16 2,4 10C3 82 0,60 IA |28 | 32 380 3 BCP BCHXaHHA 20 g e %
22 6 5,8 10C3 92 0,55 I [28 |36 350 3 BCP BCUXAHHA 18 _EI ._8_ g
24 7 2,2 8C3(92)2Cs3(112) 92 | 0,65 I 29 | 32 430 3 BCP BCHXAHHS 25 m 8o
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% 61 3 1,3 10C3+bn 52 0,70 1A 23 24 340 4 BCP BCUXAHHSA 25 @
B 61 4 1,5 7C33bn 72 | 0,55 | 25 | 30 255 4 BCP BCHUXaHHS 20 3
N 61 9 6,2 10C3 72 | 0,75 IA |26 |28 420 4 BCP BCHXaHHS 28 §'

68 6 4.4 10C3 57 0,70 1A 24 22 360 4 BCP BCHXaHHsA 25 g

73 1 17,6 10C3 44 | 0,85 IA |20 18 340 4 BCP BCHUXaHH# 35 =
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